Diff0l Answers for No.9124
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a:26 a:4
Ansl =(k=16), , Ans2 =(k=3), , AnSS—[bzl}, , AnM_[b:J
‘21_:((85’289)) i 1 =[f(a)=120] ]
Tl 2=[f(b)=131.48, h = 0.2, RateOfChange = 57.400]
AnsS = 4 - (g 13) 0 , Ans6=| .3=[f(c)=125.67, h=0.1, RateOfChange = 56.700 ]
. _5 _’5 4 =[1(d)=120.5607, h =0.01, RateOfChange = 56.070 ]
‘6 B 4 L .5 = [RateOfChange at the point a = 56 ] i
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=n(r+h)’]

2=[f(r+h)=2n(r+h)]

Ans7 =

h
[4=[2n],.5=[2n],.6
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Diff0l Answers for No.9197
a=-19 a=2
Ansl =(k=3), , Ans2=(k=06), , Ans3—[ bo1 }, , Ans4—[b:4}
';fgg’ig; i 1=[f(a)=101] ]
B 2=[f(b)=110.84, h = 0.2, RateOfChange = 49.200 ]
AnsS = 4;(; 15) , Ans6=| .3=[f(c)=105.86,h=0.1, RateOfChange = 48.600 ]
' _5 _’5 4=[1(d)=101.4806, h = 0.01, RateOfChange = 48.060 ]
‘6:4 i .5 = [RateOfChange at the point a = 48 ] i
d=[f(r)=2mr] i d=[f(r)=mnr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = _{2ﬂ(r+h)—27w} ., Ans8= n(r+h) —mnr
3= P 3= ,
L[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[4n],.6=[127]]
]_[f _«/;x2}
-4 ()C)— 4 _M_
A3 (x4 a
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Diff0l1 Answers for No.9252
a=9 a="7
Ansl =(k=T7), , Ans2=(k=5), ,,hw3—[b:3} ,1@w4—[b:5}
'21_:((94’338)) i J=[f(a)=108] ]
' _3 5 2=[f(b)=119.48, h=0.2, RateOfChange = 57.400 ]
AnsS = 4_(_ 6) , Ans6=| .3=[f(c)=113.67, h=0.1, RateOfChange = 56.700 ]
_5_ % =[f(d) =108.5607, h = 0.01, RateOfChange = 56.070 ]
6:2 L .5 =[RateOfChange at the point a = 56| |
i A=[f(r)=2mnr] | I I=[f(r)=nr] |
2=[f(r+h)=n(r+h)]

2=[f(r+h)=2n(r+h)]

Ans7 =

h

{2n(r+h) 2nr

} ) , Ans8= 3 n(r+h)2—nr2}
T h

[4=
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Diff0l1 Answers for No.9312
Ansl=(k=4), , Ans2=(k=4), AnSS:[Ziﬂ, , Ans4=[giﬂ
' _3 —’6 2=[f(b)=57.92, h=0.2, RateOfChange = 24.600 ]
AnsS = 4_'(; 10) , Ans6=| .3=[f(c)=5543, h=0.1, RateOfChange = 24.300 ]
' _5 _’3 4=[f(d)=753.2403, h = 0.01, RateOfChange = 24.030 ]
.6 B 5 L .5 = [RateOfChange at the point a = 24 ]
i A=[f(r)=2nr] ] I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = [275(”"'}1) 27”’} , ., Ans8= n(r+h)2—nr2}
- h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[10xn],.6=[8n]]]
35
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Diff0l1 Answers for No.9397
Ansl =(k=3), , Ans2=(k=5), Ans3=[62:__5}, , Ans4:|:gi§:|
e " 1= 1il= 75 “
C s 2=[f(b)=81.20, h = 0.2, RateOfChange = 41.000 ]
AnsS = 4_(_2 g) , Ans6=| 3=[f(c)=77.05 h=0.1, RateOfChange = 40.500 ]
R 4 =[f(d)=73.4005, h = 0.01, RateOfChange = 40.050 ]
.6 B ) L .5 =[RateOfChange at the point a = 40]
d=[f(r)=2nr] ] | A =[f(r)=n/] |
2=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
T h 3= i
L[4=[2n],.5=[2n],.6=[2n]]. [ 4=[2nrr],.5=[16n],.6=[12nr]]
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Diff0l1 Answers for No.9449
=-6 a=4
Ansl =(k=4), , Ans2=(k=2), , Ans3 = [b—-J , AnM_[b:EJ
’ _3 _’7 2=[f(b)=22.52, h=0.2, RateOfChange = 12.600 ]
AnsS = 4 - (; 12) , Ans6=| 3=[f(c)=21.23,h=0.1, RateOfChange = 12.300 ]
’ _5 _’5 =[f(d)=20.1203, 1 = 0.01, RateOfChange = 12.030 ]
.6_ 4 L .5 =[RateOfChange at the point a = 12 ]
d=[f(r)=271r] ] I A =[f(r)=n] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = |:27'C(I"+h) 2757'} 5 5 Ans8 = 3 ﬂ(7+h)2_nr2}
o h
2n]5—[2n]6’[2ﬁﬂ [4=[2nr],.5=[8xn],.6=[10n]]]
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Diff0l1 Answers for No.9562
=-2 a=4
Ansl = (k=28), , Ans2=(k=4), , Ans3 = [b—l} , Ans4—[b:2}
'éfgg’ g; I 1=[f(a)=40] ]
' _3 —’8 2=[f(b)=44.92, h=0.2, RateOfChange = 24.600 ]
AnsS = 4_'(; 16) , Ans6=| 3=[f(c)=42.43, h=0.1, RateOfChange = 24.300 ]
_5 _’5 4 =[1f(d)=40.2403, h = 0.01, RateOfChange = 24.030 ]
.6:4 L .5 =[RateOfChange at the point a = 24 ] ]
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[8n],.6=[6n]]]

ﬁxz}
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Diff0l1 Answers for No.9721
a=1 a=38
Ansl =(k=2), , Ans2=(k=3), , Ans3 = [b 5} , Ans4—[b:2}
' _3 —’8 2=[1f(b)=286.20, h = 0.2, RateOfChange = 41.000 ]
AnsS = 4 - (; 14) , Ans6=| .3=[f(c)=82.05h=0.1, RateOfChange = 40.500 ]
_5 _’5 4 =[1(d)="78.4005, h =0.01, RateOfChange = 40.050 ]
.6:4 L .5 =[RateOfChange at the point a = 40 ] J
d=[f(r)=2mr] ] | d=[f(r)=nr] |
2=[fr+h)=n(r+h)]

2=[f(r+h)=2n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= 3 n(r+h)2—nr2}
. 3= p

h
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[147r],.6=[10n]]
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oot
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Diff0l Answers for No.9789
a:2 (127
Ansl = (k=12), , Ans2=(k=3), , Ans3—[b:_25}, , Ans4—[b:5}
éfg;g; I 1=[f(a)=83] ]
RN 2=[f(bh)=91.20, h = 0.2, RateOfChange = 41.000]
AnsS = 4_'(g 16) , Ans6=| .3=[f(c)=87.05h=0.1, RateOfChange = 40.500 ]
s 4=[f(d)=83.4005, h = 0.01, RateOfChange = 40.050 ]
.6:4 L .5 =[RateOfChange at the point a = 40 ] J
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = [27f(r+h) 27”} , ., Ans8= 3 [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[8xn],.6=[10n]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx
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Diff0l Answers for No.9795

a:] a:3
Ansl = (k=12), , Ans2=(k=5), , Ans3—[b:_34}, , Ans4—[b:7}
'2]_:((:’157)) | 1 =[f(a)=60] 1
' ‘3 s 2=[f(b)=68.68, h =0.2, RateOfChange = 43.400
AnsS = 4_'(; 10) , Ans6=| 3=[f(c)=64.27, h=0.1, RateOfChange = 42.700 ]
' _5 s 4 =[f(d)=60.4207, h = 0.01, RateOfChange = 42.070 ]
.6:4 L .5 = [RateOfChange at the point a = 42 ]
d=[f(r)=2mr] T i d=[f(r)=mnr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
L[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[10n],.6=[12=]].
]_[f _«/;x2}
A= 1f(x)= 4 oYa
A3 (x4 a
2=y =" p
Ans9 = I3 eeny 435 : é
_ 4 4 M
. p o
3 | T ]
[.4=[%},.5=[2«/§],.6=[4«/§]}
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Diff0l1 Answers for No.9839
=-1 a=17
Ansl = (k=3), , Ans2=(k=5), , Ans3 = [b—l} , Ans4=[b:4}
'2]_:((62’480)) | 1 =[f(a)=39] |
’ _3 —’8 2=[f(b)=45.72, h = 0.2, RateOfChange = 33.600 ]
AnsS = 4_'(; 13) , Ans6=| 3=[f(c)=42.28,h=0.1, RateOfChange = 32.800 ]
_5 _’5 A4 =[f(d)=39.3208, h=0.01, RateOfChange = 32.080 ]
.6:4 L .5 = [RateOfChange at the point a = 32 ] J
d=[f(r)=271r] ] I A =[f(r)=n] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = [27f(r+h) 27”} , , Ans8= 3 [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[4n],.6=[12n]]]
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Diff0l Answers for No.9843

a:5 a:2
Ansl = (k=28), , Ans2=(k=06), , Ans3—[b:3}, , AnM_[b:J
O " 17 =341 “
' ‘3 s 2=[f(b)=139.88, h = 0.2, RateOfChange = 29.400
AnsS = 4_(_5 7) b , Ans6=| .3=[f(c)=36.87, h=0.1, RateOfChange = 28.700 ]
' ‘5 5 4=[f(d)=34.2807, h=0.01, RateOfChange = 28.070 ]
.6:2 L .5 = [RateOfChange at the point a =28 ]
A=[f(ry=2nr] ] | d=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[16n],.6=[147]]]
]_[f _ﬁxﬂ
-4 ()C)— 4 _M_
A3 (x4 a
2=l fre by =" t
Ans9 = I3 eeny 435 . é
_ 4 4 M
- p o
3 | T
[.4=[%},.5=[2«/§],.6=[4«/§]}
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Diff0l1 Answers for No.9854
a=1 a=28
Ansl = (k=3), , Ans2=(k=4), , Ans3—[b:5}, , Ans4—[b:3}
1=(4,7) i 1=[f(a)=10] ]

= :3(2’742) 2=[f(b)=12.52, h =0.2, RateOfChange = 12.600 ]

Am5:'4;(510), , Ans6=| 3=[f(c)=11.23,h=0.1, RateOfChange = 12.300 ]
’ 4 =[1f(d)=10.1203, h = 0.01, RateOfChange = 12.030 ]

.5 =[RateOfChange at the point a =12 ] J

5=3
. 6=2 | -
I=[f(r)=27rr] T | A=[f(r)=n"r]
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3:[2n(r+h)—2nr} , , Ans8= 3 n(r+h)2—nr2}
. 3= ;

h
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[6n],.6=[4n]]]

.zz{f(x)=ﬁ4x2} T
.2:[f(x+h)=M} p

Ans9 = ﬁ(x+h)2_ﬁx2 . é
. 4 h 4 ]}f
[ B ag]
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Diff0l Answers for No.9862

a:-s a:5
Ansl =(k=4), , Ans2=(k=5), , AnSS—[b:_J, , AnM_[b:EJ
32520 " 17 [Ra) =351 “
' ‘3 e 2=[f(b)=41.72, h=0.2, RateOfChange = 33.600 ]
AnsS = 4_(_2 5) b , Ans6=| .3=[f(c)=38.28, h=0.1, RateOfChange = 32.800 ]
' ‘5 - 4 =[f(d)=35.3208, h = 0.01, RateOfChange = 32.080 ]
.6 B ) L .5 = [RateOfChange at the point a = 32 ]
A=[f(ry=2nr] ] | d=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[167],.6=[107]]]
]_[f _ﬁxﬂ
-4 ()C)— 4 _M_
A3 (x4 a
2=l fre by =" t
Ans9 = I3 eeny 435 : é
_ 4 4 M
- p o
3 | T
[.4=[%},.5=[3«/§],.6=[2«/§]}
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Diff0l Answers for No.10278
a=>5 a=>5
Ansl =(k=17), , Ans2=(k=3), , AnSS—[b:_J, , Ans4—[b:7}
' _3 —’6 2=[f(b)=53.20, h =0.2, RateOfChange = 31.000 ]
o Ans6=| .3 =[f(c)=50.05, h=0.1, RateOfChange = 30.500 ]

2 2

4=[f(d)=47.3005, h = 0.01, RateOfChange = 30.050 ]

AnsS =\ 4 (511
.3 =[RateOfChange at the point a =30 ]

5=3
. 6=2 | -
d=[f(r)=2nr] ] | d=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= ; Tt(r+h)2—nr2}
3= p 3= ;
[ 4=[2n],.5=[2n],.6=[2n]]] [ 4=[2nr],.5=[14n],.6=[127]].

ﬁxﬂ

A =[f(x)= 1

B h

[ o2

M
2
2= f(x+h)=m L;
4 h
Ans9 = ﬁ(x+h)2_ﬁx2 e
4 4 by
U
T

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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X

Diff0l Answers for No.10361

a:4 a:3
Ansl = (k=-2), , Ans2 =(k=2), , Ans3—[b:1}, , Ans4—[b:5}
o) [ = [f(a) =23]
N 2=[f(b)=27.20, h = 0.2, RateOfChange = 21.000]
AnsS = 4_'(:1 16) , Ans6=| .3=[f(c)=25.05h=0.1, RateOfChange = 20.500 ]
B 4=[f(d)=23.2005, h = 0.01, RateOfChange = 20.050
.6:4 L .5 = [RateOfChange at the point a =20 ]
d=[f(r)=27r] I J=[f(r)=nr]
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} , , Ans8= n(r+h)2—nr2}
- h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[6n],.6=[14n]]]
_[f _ﬁxz}
=| f(x)= 4

[Page 0016]

=[f(x+h)=

ﬁ(whﬁ}
4

Ans9 =

E

3 e

35
4

4

5]

h

5=[3ﬁ1,.6=[4ﬁ]}

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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X

Diff0l Answers for No.10532

Ansl = (k=8), , Ans2=(k=4), , Anssz[“bz_lﬂ, : Ans4=[2iﬂ
.élz_ ((95’379)) =[f(a)=82]
P 2=[f(h)=90.20, h = 0.2, RateOfChange = 41.000 ]
AnsS = 4=(6,12) , Ans6=| .3=[f(c)=86.05h=0.1, RateOfChange = 40.500 ]
s 4 =[1f(d)=82.4005, h = 0.01, RateOfChange = 40.050
-4 L .5 =[RateOfChange at the point a = 40 ]
d=[f(r)=2nr] d=[f(r)=mnr"]
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27I(I”+h) 27“’} , , Ans8= n(r+h)2—nr2}
B h
=[2n], 5—[2n] 6=[2n]]] [4=[2nr],.5=[14n],.6=[6n]]]
=
=| f) =" s

[Page = 0017]

=[f(x+h) =
Ans9 =

ﬁ(whﬁ}
4
3 e

4

35
4
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E

h

5=[4ﬁ1,.6=[2ﬁ]}
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Diff0l1 Answers for No.10688
Ansl=(k=4), , Ans2=(k=4), , Ans3= [‘2:_'2}, , Ansd = [Z - 2}
' _3 —’6 2=[f(b)=30.20, h=0.2, RateOfChange = 21.000 ]
T Ans6=| .3 =[f(c)=28.05, h=0.1, RateOfChange = 20.500 ]

2 2

4=[f(d)=26.2005, h = 0.01, RateOfChange = 20.050 ]

A= 4 - (4,14)
.5 =[RateOfChange at the point a =20 ]

5=5
| 6=4 | -
A=[f(ry=2nr] ] | d=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= ; Tt(r+h)2—nr2}
3= p 3= p
[4=[2n],.5=[2x],.6=[2x]]] [4=[2nr],.5=[16n],.6=[12m]]

ﬁxﬂ

A =[f(x)= 1

B h

[ 2]

M
2
2= f(x+h)=m L;
4 h
Ans9 = ﬁ(x+h)2_ﬁx2 e
4 4 by
U
T

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

X [Page = 0018]




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXXXXX XXX XKL XXX KX KKK XKL XKL LKL KKK LXK LXK KKK KKK K KKKKKKKKKME6/1-6500505-0001 9XX

Diff0l Answers for No.10868
a:9 a:2
Ansl = (k=46), , Ans2=(k=3), , Ans3—[b:_7}, , Ans4—[b:8}
2250 " 1=lo- 5] “
’ _3 _6 2=[1f(b)=96.20, h =0.2, RateOfChange = 41.000 ]
AnsS = 4_(_5 9) f , Ans6=| .3=[f(c)=92.05, h=0.1, RateOfChange = 40.500 ]
) _5 N ’3 =[f(d) = 88.4005, h = 0.01, RateOfChange = 40.050 ]

s B ) L .5 =[RateOfChange at the point a = 40 ]
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]

Ans7 = [27f(r+h) 27”} , , Ans8= 3 [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[16n],.6=[6n]]]

JEf}

:[f(x): 4
2
.2:[f(x+h)=@}

3 Geny o35
4

4

Ans9 =

3= h
{%},.5:[3 ﬁ],ﬁ{%ﬂ_

[4_
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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Diff0l1 Answers for No.10900
5 a=3
Ansl = (k=28), , Ans2=(k=06), , Ans3 = [b 2} , Ans4—[b:7}
S " 1=lno= 101 “
’ _3 _s 2=[f(b)=22.36, h=0.2, RateOfChange = 16.800 ]
AnsS = 4_(_3 7) b , Ans6=| .3=[f(c)=20.64, h=0.1, RateOfChange = 16.400 ]
) _5 - ’3 =[f(d)=19.1604, h = 0.01, RateOfChange = 16.040 ]

s B ) L .5 =[RateOfChange at the point a = 16 ]
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]

Ans7 = [27f(r+h) 27”} , , Ans8= 3 [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[14n],.6=[6n]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K

- 9

£ 28] 0]
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Diff0l1 Answers for No.11693
a=35 a=17
Ansl = (k=124), , Ans2=(k=06), , Ans3—[b:_7}, , Ans4—[b:2}
) _3 s 2=[f(b)=7.52, h=0.2, RateOfChange = 12.600 ]
AnsS = 4o ’ (; 1) , Ans6=| .3=[f(c)=6.23, h=0.1, RateOfChange = 12.300]
5_s 4=[1f(d)=5.1203, h =0.01, RateOfChange = 12.030 ]
‘6:4 L .5 =[RateOfChange at the point a = 12 ]
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = [27f(r+h) 27”} , , Ans8= 3 [Tt(r+h)2—nr2}
o h
2n]5—[2n]6’[2ﬁﬂ [4=[2nr],.5=[8xn],.6=[16n]]]

ﬁxﬂ

:[ﬂx): 4

.2:[& +h J_(x+h)}
f<x+h> fx o

4

Ans9 =

B h

[ 2] eme]

NQX® >~ X
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a=19 a=2
Ansl = (k=3), , Ans2 =(k=5), , AnSS—[bZS}, , Ans4—[b:4}

é]j((84’237)) — = [Ra)=39] |

' _3 _6 2=[f(b)=45.72, h = 0.2, RateOfChange = 33.600 ]

AnsS = 4 B (_5 6) I , Ans6=| 3=[f(c)=42.28,h=0.1, RateOfChange = 32.800 ]

' _5 N ’3 4=[1(d)=39.3208, h = 0.01, RateOfChange = 32.080 ]
s B ) L .5 =[RateOfChange at the point a = 32 ] J
I=[fr)=27r] I d=[f(r)=mnr"] |
2=[f(r+h)=n(r+h)’]

=[f(r+h)=2n(r+h)]

Ans7 =

=[2n], 5—[21c] 6=[2n]]

{2n(r+h) 2nr} ,

[f(X)—

Ans8 =

b

ﬁxz}
f(xuﬂ

[4=

B TC(7’+h)2—TCI”2:|
o h
[2nr],.5=[8n],.6=[14n]]

2= [f( +h)=

Ans9 =

(x+h)

«/7x

545

£, [k

[4
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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Diff0l Answers for No.12172
a=2 a==6
Ansl =(k=4), , Ans2=(k=06), , AnSS—[b:_S}, , Ans4—[b: 8}
'2]_:((62’480)) | A =[fla)=17] |
’ _3 —’8 2=[f(b)=21.20, h=0.2, RateOfChange = 21.000 ]
AnsS = 4 - (; 13) , Ans6=| 3=[f(c)=19.05, h=0.1, RateOfChange = 20.500 ]
’ _5 _’5 4=[f(d)=17.2005, h=0.01, RateOfChange = 20.050 ]
.6:4 L .5 = [RateOfChange at the point a =20 ]
I=[fr)=27r] 1 I d=[f(r)=mnr"] |
2=[f(r+h)=n(r+h)’]

Ans7 =

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

=[f(r+h)=2n(r+h)]
{2n(r+h) 2nr} ,

=[2n], 5—[21c] 6=[2n]]

Ans8 =

[4=

5o TC(7’+h)2—TCI”2:|
- h

[2nr],.5=[4n],.6=[12n]]

Ans9 =

[

=[f(x+h)=

3=

fix

2

ﬁxﬂ

:[f(x): 4

ﬁ(whﬁ}
4
3 e

3]
4

4

h

o[ oem]
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[4=[2n],.5=[2n],.6

2

Ans9 =

{ 4 B
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

2] o]

ﬁxﬂ

:[f(x): 4

f(x+h)}
L.

:[f( +h

f(x+h)

4

B h

NQX® >~ X

Diff0l1 Answers for No.12173
a:7 a:2
Ansl =(k=17), , Ans2=(k=3), , Ans3—[b:1}, , Ans4—[b:7}
' _3 _’5 2=[f(b)=12548, h =0.2, RateOfChange = 57.400 ]
AnsS = 4_(; 10) [ , Ans6=| .3=[f(c)=119.67, h=0.1, RateOfChange = 56.700 ]
' _5 _’3 =[f(d) =114.5607, h = 0.01, RateOfChange = 56.070 ]
‘6:2 L .5 = [RateOfChange at the point a = 56 ] il
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = _[2n(r+h)—2nr} ., Ans8= T (r+hY—n i
= . _ ;
=[2m]] [4=[2nr],.5=[147],.6=[10=]]
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Diff0l Answers for No.12180
a=31 a=73
Ansl = (k=20), , Ans2 =(k=2), , Ans3—[b:3}, , Ans4—[b:7}
'21_:((52’278)) i d=[fa)=106] ]
Ll 2=[f(h)=117.48, h = 0.2, RateOfChange = 57.400 ]
AnsS = 4_(; 12) 0 , Ans6=| .3=[f(c)=111.67, h=0.1, RateOfChange = 56.700 ]
S =[f(d) = 106.5607, h = 0.01, RateOfChange = 56.070 ]
‘6:4 L .5 = [RateOfChange at the point a = 56 ] il
d=[f(r)=27nr] ] | A =[f(r)=n] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = _[2n(r+h) 2nr} ., Ans8= T (r+hY—n i
= p _ p
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[8n],.6=[4n]]]
_[f _ﬁxz}
- ()C)— 4 _M_
+h a
.2=[f( h [(x )} ,
h
Ans9 = f(x+h) fx e
i M
. P U
3 L 7T ]
{4{%}5:[%],.642%]}
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Diff0l Answers for No.12256
a:7 a:3
Ansl = (k=3), , Ans2=(k=06), , Ans3—[b:1}, , Ans4—[b:5}
.2]_2((53,157)) = I =[fa)=55] -
' _3 —’6 2=[f(b)=63.68, h =0.2, RateOfChange = 43.400 ]
AnsS = 4 - (:1 10) , Ans6=| 3=[f(c)=59.27, h=0.1, RateOfChange = 42.700 ]
' _5 _’5 =[f(d) =55.4207, h = 0.01, RateOfChange = 42.070 ]
.6:4 L .5 =[RateOfChange at the point a = 42 ]
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[fr+h)=n(r+h)’]

2=[f(r+h)=2n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= 3 n(r+h)2—nr2}
. 3= p

h
[4=[2n],.5=[2n],.6=[2n]] [ 4=[2nr],.5=[14n],.6=[12x]]

2
oot
2= [f( +h)—[(x+h)}
(x+h) fx

Ans9 =

NQX® s>~ K

- 9
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Diff0l1 Answers for No.12278
a:3 a:4
Ansl =(k=2), , Ans2=(k=06), , Ans3—[b:_45}, , Ans4—[b:8}
1=(48) i 1=[f(a)=59] ]

2 :3(1’523) 2=[f(b)=67.68, h=0.2, RateOfChange = 43.400 ]
AnsS = 4 : (5.11) , Ans6=| 3=[f(c)=63.27, h=0.1, RateOfChange = 42.700 ]
’ A4 =[f(d)=59.4207, h=0.01, RateOfChange = 42.070 ]

.5 =[RateOfChange at the point a = 42 ] )

5=3
. 6=2 | -
I=[f(r)=2nr] ] | A =[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= 3 n(r+h)2—nr2}
. - h . = h
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[14n],.6=[10x]]

ﬁxﬂ

.]=[f(x)= 1 v
2
2= f(x+h)=m Ctl
4 h
Ans9 = «/g(erh)z «/gxz ) | @
S 4 4 Y,
h U
L T ]

[ o]
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Diff0l1 Answers for No.12482
=-5 a=2
Ansl = (k=3), , Ans2=(k=3), , Ans3 = [b—l} , AnM_[b:J
' _3 —’6 2=[f(b)=28.20, h=0.2, RateOfChange = 21.000 ]
AnsS = 4_'(:1 10) , Ans6=| .3=[f(c)=26.05h=0.1, RateOfChange = 20.500 ]
' _5 _’5 =[f(d)=24.2005, h = 0.01, RateOfChange = 20.050 ]
.6:4 L .5 = [RateOfChange at the point a = 20 ]
I=[fr)=27r] 1 I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = |:27'C(I"+h) 2757'} 5 5 Ans8 = 3 |:n(r+h)2_nl"2:|
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[16n],.6=[4n]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K

- 9

£ [15] 0]
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Diff0l Answers for No.12586
a=6 a=4
Ansl =(k=2), , Ans2=(k=3), , Ans3—[b:3}, , Ans4—[b:2}
P " 1=lo= 2] “
' _3 _’7 2=[f(b)=29.88, h =0.2, RateOfChange = 29.400 ]
AnsS = 4_(_5 9) , Ans6=| .3=[f(c)=26.87,h=0.1, RateOfChange = 28.700 ]
' _5 - ’3 4 =[1(d)=24.2807, h=0.01, RateOfChange = 28.070 ]
.6:2 L .5 = [RateOfChange at the point a =28 ] J
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[14n],.6=[16T]]]

ﬁxﬂ

A =[f(x)= 1

M
2
2= f(x+h)=m L;
4 h
Ans9 = ﬁ(x+h)2_ﬁx2 e
4 4 by
U
T

T h
[ 25]
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Diff0l1 Answers for No.12677
a==6 a=3
Ansl =(k=4), , Ans2=(k=06), , AnSS—[b:_?J, , Ans4—[b:7}
' _3 —’8 2=[1f(b)=36.88, h=0.2, RateOfChange = 29.400 ]
AnsS = 4 - (g 13) , Ans6=| .3=[f(c)=33.87, h=0.1, RateOfChange = 28.700 ]
' _5 ’5 =[f(d)=31.2807, h=0.01, RateOfChange = 28.070 ]
.6:4 L .5 = [RateOfChange at the point a = 28 ]
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = |:27'C(I"+h) 2757'} 5 5 Ans8 = 3 ﬂ(7+h)2_nr2}
T h
2n]5—[2n]6 [27]] [4=[2nr],.5=[12n],.6=[8n]].

ﬁxﬂ

:[ﬂx): 4

.2:[& +h J_(x+h)}
f<x+h> fx

4

Ans9 =

B h

EE |
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Diff0l Answers for No.13490

a:19 a:6
Ansl =(k=4), , Ans2=(k=3), , AnSS—[b::z)}, , Ans4—[b:3}
' ‘3 s 2=[f(b)=280.20, h = 0.2, RateOfChange = 41.000]
AnsS = 4_(_4 9) f , Ans6=| .3=[f(c)=76.05h=0.1, RateOfChange = 40.500 ]
' ‘5 5 4 =[f(d)=72.4005, h = 0.01, RateOfChange = 40.050 ]
.6 B ) L .5 =[RateOfChange at the point a = 40 ]
A=[f(ry=2nr] ] | d=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[10n],.6=[167]]]
]_[f _ﬁxﬂ
A= 1f(x)= 4 oYa
A3 (x4 a
2=y =" y
Ans9 = I3 eeny 435 : é
_ 4 4 M
- p o
3 | T
[.4=[%},.5=[2«/§],.6=[4«/§]}
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Diff0l1 Answers for No.13500
a=-25 a=2
Ansl = (k=38), , Ans2=(k=06), , AI’ZS3—|: bo1 }, , Ans4—[b:4}
éfﬁ ;g; i 1 =[f(a)=27] ]
' _3 —’6 2=[f(b)=33.72, h=0.2, RateOfChange = 33.600 ]
T Ans6=| .3 =[f(c)=30.28, h=0.1, RateOfChange = 32.800 ]

2 2

4=[f(d)=27.3208, h = 0.01, RateOfChange = 32.080 ]

Ans3=| 4 _(6,15)
.5 =[RateOfChange at the point a = 32 ]

5=5
| 6=4 | -
A=[f(ry=2nr] ] | d=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= ; Tt(r+h)2—nr2}
3= p 3= p
[4=[2r],.5=[2x],.6=[27]]. [4=[2nr],.5=[10R],.6=[14]]]

ﬁxﬂ

A =[f(x)= 1

B h

[ 2]

M
2
2= f(x+h)=m L;
4 h
Ans9 = ﬁ(x+h)2_ﬁx2 e
4 4 by
U
T
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Diff0l1 Answers for No.13637
a=3 a=6
Ansl =(k=06), , Ans2=(k=3), ,,hw3—[b:6} ,1@w4—[b:2}
'21_:((51’248)) i J=[fa)=103] ]
' _3 s 2=[f(b)=112.84, h=0.2, RateOfChange = 49.200 ]
AnsS = 4_(_ 70 , Ans6=| .3=[f(c)=107.86,h=0.1, RateOfChange = 48.600 ]
_5_ % 4 =[1(d)=103.4806, h = 0.01, RateOfChange = 48.060 ]
6:2 L .5 =[RateOfChange at the point a = 48 ] |
i A=[f(r)=2mnr] | I I=[f(r)=nr] |
2=[f(r+h)=n(r+h)]

2=[f(r+h)=2n(r+h)]

Ans7 =

h

{2n(r+h) 2nr

} ) , Ans8= 3 n(r+h)2—nr2}
T h

[4=

[2nr],.5=[167n],.6=[4n]]

[4=[2n],.5=[2x],.6=[2x]]]

' 2 4
o]

2= [f( +h)—[(x+h)} )

Ans9 = (x+h) fx : é
M

U
7]

(L } 1441
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Diff0l1 Answers for No.14015
a=17 a=2
Ansl =(k=4), , Ans2=(k=06), , Ans3 = [b—-S} , Ans4—[b:4}
S " 1=lo=o1) “
’ _3 —’8 2=[1f(b)=36.88, h=0.2, RateOfChange = 29.400 ]
AnsS = 4_'(g 13) , Ans6=| .3=[f(c)=33.87, h=0.1, RateOfChange = 28.700 ]
_5 _’5 4=[1(d)=31.2807, h=0.01, RateOfChange = 28.070 ]
.6:4 L .5 = [RateOfChange at the point a =28 ]
d=[f(r)=2mr] ] | d=[f(r)=nr] |
2=[fr+h)=n(r+h)]

2=[f(r+h)=2n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= 3 n(r+h)2—nr2}
. 3= p

h
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[127],.6=[10r]]

2
oot
2= [f( +h)—[(x+h)}
(x+h) fx

Ans9 =

NQX® s>~ K

- 9
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